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7.8 a Gibbs for p(pl,r . ,6:. y)
 |nitialization

sig2.alpha = 86

Pt L e Given in text
sig2.eps = 1

n = nrow(d)

v.bar = mean(d$Moisture)

y.dot <-with(d, tapply(Moisture, Batch, mean))
Jg = 2

I =15

D=1000

L = 1000

N = D+L

Vi =1/(J/sig2.eps + 1l/sig2.alpha)
V2 = 1/(1/sig2.eps+l/sig2.beta)

V3 = 1/(J/sig2.beta+l/sig2.alpha)
Yy = matrix(dS$Moisture,ncol=J,byrow=T)

12
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7.8 a Gibbs for p(pl,, Q. ,3:. y)

* Gibbs sampler

#Gibbs sampling
for(i in 1:N)
{

$Sample mu

mu = rnorm(l,y.bar-sum(J*alpha)/n-sum(beta)/n,sqgrt(sig2.eps)/n)
$Sample alpha

alpha = rnorm(I,J*V1* (y.dot-mu-rowSums (beta)/J)/sig2.eps,sqrt (V1))

$Sample beta
beta[,1l] = rnorm(I, V2*(y[,1l]-mu-alpha),sqrt(V2))

beta[,2] = rnorm(I, V2*(y[,2]-mu-alpha),sqgrt(V2))
#5tore simulations
muMl [k,i] = mu
alphaM[k,i,] = alpha
betaM[k,i,,] = beta

sig2.eps = 1
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7.8 b) Gibbs for p(i,v.m.y)

#Initialization
mu = y.bar
gamma = y.dot-y.bar
eta = matrix(0,nrow=I,ncol=J)
y = matrix(d$Moisture,ncol=J,byrow=T)
#Gibbs sampling
fok(i in 1:N)
{
#Sample mu
mu = rnorm(l,mean(gamma),sgrt(sig2.alpha)/I)
#Sample gamma
gamma = rnorm(I,V3* (rowSums (eta)/sig2.beta + mu/sig2.alpha),sqgrt(Vv3))
#Sample eta
etal[,1] = rnorm(I,V2*(y[,1]/sig2.eps—-+gamma/sig2.beta),sqgrt(V2))
etal[,2] = rnorm(I,V2*(y[,2]/sig2.eps+gamma/sig2.beta),sqgrt(V2))

muM2 [k,1] =
gammaM [k, i, ]
etaM[k,1,,]
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«7d» STAN model
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